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Qualification Test for Welders 
and Welding Procedures

	
	

	Date:
	     
	

	

	Company:
	[bookmark: Text4]     
	Location:
	[bookmark: Text5]     
	

	

	Name of Person to be Qualified:
	[bookmark: Text6]     
	

	

	Reinforcing Steel Manufacturer:
	[bookmark: Text7]     
	

	

	Identifying Bar Making:
	[bookmark: Text8]     
	

	

	Size of Reinforcing Bars:
	Longitudinal:
	[bookmark: Text9]     
	
	Vertical:
	[bookmark: Text10]     
	

	

	[bookmark: Check1][bookmark: Check2]Position of Welding*:	|_|	Flat	|_|	Vertical-up

	

	Welding Machine and settings:
	[bookmark: Text11]     
	

	

	Amperage:
	[bookmark: Text17]     
	[bookmark: Check3][bookmark: Check4][bookmark: Check5][bookmark: Check6]Polarity:	|_|	Straight	|_|	Reverse	Current:	|_|	AC	|_|	DC

	

	Welding Rod:
	Type:
	[bookmark: Text12]     
	Mfg.
	[bookmark: Text13]     
	Mfg. Designation
	[bookmark: Text14]     
	Size
	[bookmark: Text15]     
	

	

	Samples marked as follows:
	[bookmark: Text16]     
	

	

	Remarks:

	[image: BMPR PS01 - formerly W-1]


		

	
	













	

	Note:  If joint configuration detail has vertical bar to left, weld position is flat (downhand) and welder/weld procedure is only qualified for flat.  If joint configuration detail has horizontal bar to left, then weld must be vertical-up and welder/weld procedure is qualified for flat or vertical-up.

	

	IDOT Inspector Name (Print)
	[bookmark: Text2]     
	

	

	IDOT Inspector Signature
	
	

	



		BMPR PS01 (Rev. 12/06)
		(Formerly W-1)
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Sample 1 ﬂ A/— Sample 2

Mark sample # on specimen
with paint stick at least 2"

from weld. (Larger Bars Vertical)

NOTE: For retests, mark as: (Smaller Bars Horizontal)

__R___ 18" Minimum between

e.g.. 4R2=sample 4, cormers

second retest.

Sample 3 e 4 — Sample 4

S(E) &

E
NOTE: Use hacksaw or shears to cut sample bars.
Use same size bars as normally used in beams.
Sample specimen size should be 9" x 9" when S=Bar Dia/2

submitted to Bureau. Effective Throat E = 0.4*S

Joint Configuration




